
Tisha has 10¢. She bought 2 purple flowers. How much does she 
have left?

Lina bought 4 yellow flowers. How much did she spend?
 

Jillian has 17¢. She bought 2 pink flowers. How much does she have 
left?

 _________ + _________ = __________  and 10 + _________ = __________

 _________ +_________ +_________ + _________ = __________

 _________ + _________ = __________  and 17 + _________ = __________

 _________ + _________ = __________

 _________ +_________ + _________ = __________

Roxy bought 3 blue flowers. How much did she spend?
 

Samy has 9¢. She bought 1 orange flower. How much does she have    
left?

Solve each problem by using the store to fill in the equations.

3¢ 4¢ 6¢ 9¢ 8¢ 1¢

At the Flower Shop  
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